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CHAPTER 8

ch
Features of Connew

8.1 Accent in Connected Spee_"h d Rhytthf:es in English, it is
d into senten Cur at regular

When words are combiné o
foyps that e accentéd Sy”at;:ti;;:n‘(‘jT:;t’s not the booK |
intervals of time. Thus, I, W22 'wont;d /, the time intervals

|
wanted” / dats 'not 09 buk ar yllables /not/, /'buk/ and

inni trong s
tween the beginning of the S . :
/t')\?vg\;wt/ will be ?oughly the same. It is this phenomenon that

gives to English its charactgristig .rh.y.thm, and any neglect of
this feature results in lack of intelligibility
The important thing from the learner’.s point of view is to
know which words are to be accented in the sentence. The
first point to make is that the syllables of words which receive
priméry accent when the word is pronounced in isolation are
potentially those which will receive the accent when the word
occurs in a sentence. Thus in the two-syllable word about
/obaut/the first syllable is unaccented and the second
accented; when about is found in connected speech, the first
syllable could not be accented and the second might or might
not be, depending on the rhythmic balance of the sentence
and the relative importance ascribed by the speaker to its
different semantic constituents. In the sentence ‘They're
coming about nine,” R.P. /dero 'k/\mn] obaut 'nain /, the second
syllable of about is not accented, because the most important
parts of the sentence from the point of view of meaning are the
fact that some people are coming, and the time at which they
are coming. In the sentence “She doesn’t know what she’s
about” R.P. /i 'daznt 'nou wot fi:z o'baut/, the second syllable
(\:/fo?go'm receives the primary (or tonic) accent, because the
positioli ;eg:a”'“ca”y important and because it occupies 8
e € sentence where, given the position of the other
NQ syllables, another strong syllable would becomé
it a?muse of the rhythm of the sentence as a wholé:
ne level of the sentence is therefore much freer than
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in the word. However, certain kinds of words by the very
nature of their function, in that they are likely to be more
important in conveying the meaning of the whole utterance,
are more likely than others to receive accent in the sentence.
These are nouns, main verbs, adjectives, adverbs and
demonstrative and interrogative pronouns.

Examples:

1. He 'came 'late to the'office.

2. 'Nobody 'took any ‘notice of him.

3. There’s nothing to be ‘done about it.
4. 1'd'like to 'know who ‘broke it.

5. He's 'going to 'meet us at the ‘station.

In these sentences, tonic accent is indicated by an oblique
bar pointing downward.

Words that are normally accented in native English are
sometimes left unaccented in Indian English. This is one
reason why Indian English is sometimes unintelligible to native
English speakers. This feature is particularly noticeable in noun
phrases, where either ther headword or one of the modifiers is
sometimes left unaccented by Indian speakers.

Examples:

() 'several other 'things .. other not accented;
close juncture
between several and
other.

(i) 'chemical engineering .. engineering not
9 accented

Students’ not
accented.
centres not
accented.
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State not accenteq

(vii) Bi'har State Transport ..
(viii) 'East Godavari '

'District .. Godavari not
accented; close
juncture between
East and Godavari

(ix) 'Central Institute of .. Institute not
'English accented.
(x) 'Arts College .. College not accented

8.2 Weak Forms

Another important feature of English accentual patterns js
that unaccented syllables between the accented syllables teng
to become reduced. This phenomenon has become steadily
more marked as the language has developed. The speaking
voice seems almost to take aim at each successive strong
syllables, and to glide over the intervening weak syllables. The
reduction is most marked in quick and informal speech. Eqr
the learner of the language as well as for the student of
phonetics, alterations in vowel quality as between the strong
and the weak forms of the same word must be noted.

Examples:
Weak form in Example
" British R.P.
Articles
“ /a/ , / 3'buk /
an /an/ - /on'eg/
the /01/  before 3
vowel / dra:mi /

/00 / before a
consonant  /da'terbl /

/3 |

/:}’ %/ / aim‘kamm /
T / wid “kamin /
! daz/ / juzkan‘gau /

/'wot dozhi: ‘wpnt/
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had (aux.) / had,ad, d / / wi:d ' finilt /
has (aux.) /haz, 92,2, 8/ / hi:z'left /
have (aux.) / hav,av, v / / av'touldju: /
IS /2,8/ /hi:z'hia /
shall /N7 / 'wotl | wi: “du: /
was / waz / / hi:waz ‘preznt /
were / wa/ / ju:wa ‘lert /
will /1/ / ail ‘help ju: /
would 7ad,d/ / aid 'ra:8o 'ster in
‘bed/
Conjunctions
and /ond, an, n/ /'Ap an ‘daun /
as /az/ /'trar 2z ‘ha:d 2z ju:'kaen /
than / ®an / / hi:z \toido don mi: /
that /dat/ / hi: 'tauld mi: dat hi:
waz ‘kami /
Prepositions
at / ot/ /luk ot 32 ‘blaekbo:d/
for /fa/ /Os 1z 2 \ju: /
from / from / / hi: 'kamz from ‘delr /
of /av/ /2 'kap ov 'ti: /
to /ta/  beforea  /aim'geumto ‘deli/
consonant

/tu/  beforea  /aim'geumtu ‘a:sk him
, vowel abaut 1t /

Weak forms are not always used in Indian English.
Sometimes the weak form used is different from that in British
R.P., The common Indian pronunciations of some of the words
listed above are as follows:

ale],an/en/, the / do / even before vowels.

are/ ar/,can/kan/had /haed /, is / 1z / shall / Jxl /

and/&nd /. as/®z/ that/ dwxt/, at/xt/

for / for/ , from / from /, of /vof/ , to /tu/i
Practice in Weak Forms |
Here is a list of phrases and sentences for pronunciation
~ practice.Each contains one or more weak forms, and,

| positions.

~ naturally, one or more stressed eyugb\tas.

-
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/a/

ilo.
Five rupees a ki fant

| want an old one.
7he old men. /Or/ /
¢m not coming./ M
Mohan's not stgymg y
They're all stupid. / ar .
He was brilliaqt even as /
They were eating. / War s
I've never met him. /v/, lm/ P
Sita's gct a pleasan/t ryan/ner. -

’ like her? /d/, /9 .
@gzza// come and see you / t7, 7oand/, /ju/
Tell them if you should see them. /dam /, /[od /, /&om /
They’ll never do it. / 1/
I'dgoiflcould/d/ ~
You can leave at twelve. / ju/, /koan/, /at/
Curry andrice. / and / . .
Did you know that the train was derailed? / ju/, /oot /,

/02/, /waz/

here./ z/

boy./waz/, /2z/,/a/

lwon't/nt/
There’salottoeat./z./ /o/,/tu/
Atfiveto seven. /ot /, /ta/

The same for all. / 8o ¥ F5r]

From time to time, /from/ /ta/
Hecan't/hi/, /nt/)

Is his father rich? J 2%

Catch him. / im/

She won't. /f /. 7t/

Watch them / dom /

The one that yoy ¢

an :
Wewon’t/wn/, /nt/see'/ag/ /oat/ /ju/ /kan/
You didn’t, /jy ;. /nt/

Ron’s got som
As old as | g,

Bigger than me. /69;1

S
i Verbs ang Drezoos?tlid be USed in accented positions: /::0
OMS in the fing positionons.‘ listed above do not take W

. g
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8.3 Intonation

When we listen to someone speaking, we can distinguish
continual variations in the levels at which the voice is pitched.
In this way the speaking voice {0 some extent resembles the
singing voice. These intonation patterns, as they are called, are
different in different languages, but, as the use of the word
‘pattern’ perhaps indicates, changes in vocal pitch are not
haphazard. The factors that chiefly determine the choice of
one pattern as against another are both objective and
subjective, objective in that the type of utterance (statement
vs. question. command vs. request, even simple vs. complex
sentence) is imporiant, and subjective in that the speaker's
mood and his attitude to what he is saying are also significant.

Intonation can be used with great subtlety, sometimes to
convey informatior: that is not overtly expressed by the words
themselves. Thus if a speaker says ‘She’s very beautiful’ with a
falling intonation, then he means precisely that; if, however, he
says the same sentence with a falling-rising intonation, he
probably means that although the lady in question may be
beautiful, her character is defective in some other way.

Stress and intonation are linked phenomena; they work
together to give the effect of ‘prominence’ or accent. Accented
syllables can be said with level pitch, high or low, or with a
change in pitch. An accented syllable said on level pitch is
described as having a static tone, whilst an accented syllable
on which a pitch change takes place has a kinetic tone. The
syllable which initiates a kinetic tone is called the nucleus and

said to have the primary, nuclear, or tonic accent. Thus the
sentence

They 'came at ‘night

would normally be said in British English with a high leve!
~ (static) tone on came and a falling nucleus, or falling kinetic
~ tone, on night. A more detailed classification of nuclei follows.
~ Another factor which affects intonation is the speaker's
emotions, the degree of intensity he brings to bear on what he
s saying. Generally speaking, the more a speaker is involved
at he is saying, by way of anger, grief, excitement, self-
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itc
ill be the range of P!
eater will h. on
' e and so on, the g - everyday speech,
e o i e e S S
ith little emotl . sive) is sai
o Otze(:':]eadnndés:"g;ting as an emotional SUpPPres )
speech (ti

.. - e.
ithin a more limited pitch rang ' _ i
: lt' must be admitted that the systém of intonation pa

: ish, as of any other language,
o byl i nitléer;gﬁa}zz:nfr i?%::z language would need years
L)Sfcs?rl?dpye;ﬁd practice before he could use the tlotarl1 system
with the same facility as one born to it. It. IS pqsmb e, owle;/e|r,
to learn and use a simplified system whlch will be completely
inteligible and enable the learner to avoid conveying false
impressions.

The Tones
(i) Level (Static)

(@) A high level tone will be marked with a symbol 'above
and in front of the syllable to which it refers:
Those
'Have

(b) A low level tone will be marked with g symbol | below
and in front of the syllable to which it refers:

Now
.Then

This mark is also u
rsing nucleus.

sed to indicate Stressed syllables after a

Marked with a symbol \in front of

. The syrpbol will be above the line
OW the line for a |ow falling tone.
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Yours ,Car
Three ,These

(c) A falling-rising tone will be marked with a symbol "above
and in front of the syllable to which it refers.

“Try
‘Soft
‘Sleep

Placing the Nucleus

When a foreign learner is confronted with a passage to be
read, or indeed asked to speak, the most difficult problems of
intonation he has to face are where to place the nuclear tones
and in what direction they should move. Correct habits have
first to be learned mechanistically at the conscious level so
that later the speaker can use the system instinctively.

The golden rule for the correct piacing of nuclear accent i-
that a pitch change will very often take place on that syllable of
the group (for division of an utterance into groups see the next
section) which the speaker wishes to make the most
prominent. A few examples will illustrate this point.

| 'hate \women. (I may, however, like men or children.)

| ‘hate ,\women. (I’'m insisting on my emotion.)

\ hate , women. (Although my brother is very fond of them.)

Many utterances are of course much less dramatic than
these. Some syllables may be made prominent merely to
indicate completion. The speaker has either finished what he
has to say and will wait for a reply, or has at least reached an
intermediate conclusion and will pause for a moment before
going on to say something else.

Good ‘morning.

It's ;six 0’ clock... Shall we ,go?

Thus if no special prominence is intended, the nucleus is on
the last accented syllable in the group.
Division into Groups

Given that a foreign learner may know that the most
‘important’ syllable of a group will take the nuclear accent,

A
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group; where it

how is he to know what precisely constitutes a

begin ' ?
gins and where it ends gth of a group are

() The absolute limits i-n. the |Qn that no speaker can
obviously physiologically conditioned, N th to speak. In

brea
prolong a group for longer than he hfasr. D o than seems
practice, we will prolong no group o)

et is therefore linked with
comfortable. Division into geff‘)vlilﬁzn | went to see them, they

breath control. In the sentencke 2 slight pause, to cut off the

were out’ it is natural to ma
outgoing air stream after the word them and before the word

they. ‘

When | went to see them /1
mark off one group from another.)

This same sentence could be said as one group, although it

hey were out. (A line / is used to

is less likely, and that is about as far as one could go. Any.

additional clause would almost inevitably lead to another
group. ,

When | went to see them they were out, / so | went back
home.

-

or

When | went to see them, / they were out,/ so | went back
home.

If we look again at the first simpler sentence, we note that
the most significant word in the first group is see and in the
- second out. These are therefore the syllables which take the

b : nuclear accent. A likely rendering of the sentence is:

; I ‘we‘nt to , see them, / they were ‘out /

Punctuation, which also correlates fairly closely With

Pauses, is a useful though not infallible guide to the

98 and ends of groups. A full stop, colon or sem”
. coonwill always mark the end of a group, and @ com

N though I've ‘never ‘met him, / | 'feel | 'know allabo!
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(i) Many groups, however, can not be divided precisely
according to punctuation marks, and then the learner must
look for clues in the distribution of meaning in the utterance, or
in its grammatical structure. Consider the following passage:-

There's a city in South India called Hyderabad. | shall
always remember it, firstly because | lived there happily
for almost two years, and secondly because it was

hotter there than at any place I'd ever been before, or
have visited ever since..

In the first sentence the information abdut where the city is

seems as important as its name. The sentence therefore has
two groups.

There's a ‘city in 'South Andia / called \ Hyderabad./

- The first group has a rising nucleus to signify an incomplete
utterance. The second has a falling nucleus.

The first comma of the second sentence marks off the end
of the next group, and again there is a rising tone for
incomplete utterance. There are, of course, grammatical

reasons for making a break here in that the main clause ends
:and a subordinate clause begins:

| shall lalways re,member it /...

The next group would in British English normally take a
falling-rising nucleus on the word years. This helps to convey
an atmosphere of warmth and the speaker's pleasure in
remembering his experiences. (There might also be a falling
nucleus on the word happily, a word important here from the

point of view of meaning. This would make for a livelier
reading):

. firstly because | 'lived there (* )'happily for 'almost 'two
‘years /

In the next clause the words there and before are

contrasted and made prominent and both take nuclear tones,
the first falling, the second rising:

...and 'seé:ond|y because it was 'hotter \there / than at ‘any
Iplace I'd 'ever been be /[fore, /
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The last group, making the end of the statement, takes a

falling tone:

_or have 'visited lever ‘since. /
An utterance can therefore be divided into groups by noting

carefully structural and semantic clues.
sometimes do not divide their sentences

Indian speakers : .
into groups correctly. Sometimes they place the intonation

nucleus on the wron
1. \Good evening.
(The normal English pa

o \In addition to , this.
(Ordinarily there would be a falling-rising nucleus on

the second syllable of addition).
3. Itis \four o’clock.
(In native English the nucleus is ordinarily on the
second syllable of o’clock.)
4. | ,didn’t / 'ask you*to.
Ordinaril i
ﬁ] . gfntt;s;i should be only one group with a falling

5. 1\ fared well, /| ,think.
(Ordinarily the falling nucleus should be on well)

6. 'l know \what you mean.
(I|‘he normal pattern would be:
| 'know what you \mean)

7. ‘asfar/as | could.
(The normal pattern would be

as 'faras |, could)
gh_he 'tqur /was / 'very | pleasant.
8 :n :l(\)/:non should come after tour, not after was,)
gl divisi?)?w /was / dressed / in ‘woollens.
should come after woman, not after was)

10. I'want to'
tto ‘get a 'few more 'details from \you.

Hawng o "t:cebus would be on details).

g word, €.9-,

ttern is to make evening the nucleus )

ot
LTS
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questiOH still remains of which tone to use (falling, rising or
falling—rising) in a given context.

The Uses of the Tones

1. Falling
A falling tone is used as follows:

(@ In ordinary statements made without emotional
implications:
It's |seven o’ ‘clock.
| have a 'lot of \students.
The house is \empty.
The 'water’s \warm.

(b) In questions beginning with a question word such as
what, why or how, (whose interrogative nature is therefore
clear), which are said in a neutral and sometimes unfriendly
way.

Why did you ‘do it?

When are they coming?

How will they get here?

'What are they ‘muttering about?

() Incommands:
IDo as | \say.
'Come \here.

In British R.P. the typical intonation contour of a ‘tune’ in
which a falling tone occurs is that the first accented syllable of
the group is said on a high level note and each successive
accented syllable on a slightly lower note, until the fall on the
last accented syllable, which has the nuclear tone. Unaccented
syllables, before the first accented syllable and after a falling
nuclear tone are normally said on a low nbte. Whether the
nuclear tone takes a high or a low fall usually depends on the
degree of intensity which the speaker imparts to his utterance.
2. Rising

The rising tone is used as follows:

(@) In incomplete utterances, very often as the first clause
of a sentence:




- n't got up,¥e gright)-
sheé has re QU' e
's ' ' 'k (but 8 e a
oy Seve»:‘ :) fcz)t(llti(()"ts (c'lnd Ssgen for yeafs)
ave a lot of ,stude 25 be :
!ﬂ’:g\'{:\cjuqe is ,empty (and " n't you come in)
water's . warm (so why d© 1 (a) above.,
The 'water's ,warm (¢ o under

; hoSs 5
ences with 1 answer yes or no:

Compare these sent P

' an
(b) in questions which def
Are they ,coming?

Wi it?

Will you ,do | et?
Has the lIe,cture / Sta;oe:né er ,brother?
Have you seen my

— uestion word such as
, ' ich begin with a s .
whg;) u'/r;v: ljaerszgcvs \:rr]wld which are said in a warm fnendly

manner (cf. 1 (b) above):
'How's your molther?
'Why didn’t you 'come and , see me?
'What ,time is it?
(d) In polite requests:
'Would you 'open the s window?
' 'Please sit ,down,
AS may be seen from a study of the examples under 1 ang
2 ab Ve, whenever there is a choice between a rising and a

one, a ris.ing tone indicates involvement as Opposed to
Y, friendliness as opposed to hostility.

'y tone is typ; ' ial
£ " Impression 1y the listener should

it SR Seand i im0 i i i TR i
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understand more than a literal interpretation of the words. Its
use in statements can be contrasted with that of a falling tone,
where nothing extra is meant to be read into the remarks
uttered. The term ‘special implication’ can cover insinuation,
veiled insult, apology, unpleasant news, happiness,
reassurance, or doubt on the part of the speaker as to the
validity of his remark. Here are some examples of the use of
this tone. The fall-rise may take place on one syllable, or it may
be spread over several, in which case it is referred to as
‘divided’.
I'm 'going there this “evening. (Even though you may have
expected me to go earlier,
this is the best | can do.)

I'didn’t see you at the "theatre. (I saw you somewhere else,
and you didn’t realise it.)

The "houses are nice. (but perhaps the people in
them aren't so pleasant.)

His “brother will come. (which is just as good for
our purposes, so don't
worry.)

He’s 'not as 'stupid as | ‘thought. (which, even though he's
still quite stupid, is a good
thing.) .

‘Do it at ,once. (I know that a person of

your type won't do it unless
| tell him to.)




